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PART - A
1. Match the following :
List -1 List - IT
A. Death of Haider Ali 1. 1782
B. Death of Tipu i, 1784

C. Treaty of Srirangapatnam iii. 1792
D. Treaty of Mangalore iv. 1799
A B cC D

(1) i 1\ S S\
@) i i v i
(3) il iv i i
4 i v i

2. The first English settlement in India
to be fortified was
(1) Fort William, Calcutta
(2) Fort St. George, Madras
(3) Mahim Fort, Bombay
(4) Aguada Fort, Goa

3. Consider the following statements :
A. The City of
Rajamahendravaram

was constructed by Ammaraja
Vishnuvardhana — I.

B. In the Madras Presidency, the

district of Rajamahendravaram
was created in 1823,

Of the above, the correct statements
are

(1) Aonly

(2) Aand B

(3) Bonly

(4) Neither A nor B
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4. The first novel in Telugu is 4. Beorrd’ DootiRaced B0

(1) Viveka Vardhini

(2) Rajasekhara Charitram
(38) Viveka Chandrika

(4) Prahalada

5. The Constitution empowers the

Parliament to

A. Change the names of the States
B. To admit new territories

C. To secede or transfer territories
(1) Bonly '

(2) Aand B

(3) Band C

(4) A, Band C

6. Which of the following pairs is matched

correctly ?

A. Cyclone Amphan—West Bengal
B. Cyclone Vayu - Gujarat
C. Cyclone Phethai — Andhra Pradesh

Correct code is
(1) C only

(2) A and B only
(3) A,BandC
(4) A and C only

7. Which of the following was the first

Arabcountrytobe granted a membership
to the Financial Action Task Force
(FATF) ?

(1) Saudi Arabia

: (2) Kuwait

(3) Iran

(4) Iraq

1) 938 ZJQZ)
oeidpd PO
(3) I5¢ 50O
(4) ETexE
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8. The ‘Cloud Computing’ technology

refers to

(1) A set of algorithms that solveg
problems using fuzzy logic

(2) Many computers that are
inter connected through wirelegg
networks and satellites

(3) A system of storing and accessing
data and programs over the
internet instead of storing on the
computers hard drive

(4) A futuristic technology that wil]
use clouds to perform computing

9. Consider the following statements :

A. In Augmented Reality (AR), a
simulated environment is created
and the physical world is
completely shut out.

B. In Virtual Reality (VR), images
generated from a computer are
projected onto real-life objects

or surroundings.

Which of the above statements are
correct ?

(1) A only

(2) Bonly

(3) Both A and B
(4) Neither A nor B

10. Consider the following statements :

A. The Human Genome Project is an
international research project with
the goal to map and understand
the genes of human beings.

B. The India Genome Project is
being carried out under the aegis
of Department of Science and
Technology.

Which of the above statements are
correct ?

(1) Aonly

(2) Bonly

(3) Both AandB
(4) Neither A nor B
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Directions (11 -12): Read the following
information carefully to answer the questions
that follow.

A family consists of six members A, B, C, X,
Y and Z. B is the son of C but C is not the
mother of B. A and C are married couple.
Y is the brother of C. X is the daughter of
A and Z is the brother of A.

11. Who is the brother-in-law of C ?
(1) A
(2) Z
3 Y
4) X

12. How many female members are there
in the family ?
(1) One
(2) Two
(3) Three
(4) Four

13. Inacertaincode language, BECOME is
written as CGFNKB. How is EXPORT
written in that code language ?

(1) FZSNPQ
2) FYSNPQ
3) FZSNRQ
(4) FZTNPQ

14. If‘Green’is called ‘Blue’,‘Blue’is called
‘Red’, ‘Red’ is called ‘White’, ‘White’ is
called ‘Yellow’, then what is the colour
of milk ?

(1) Blue
(2) White
(3) Red
(4) Yellow
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15. Which of the following has the oldest
rock system in the country ?

(1) The Himalayas

(2) The Aravallis

(3) The Indo-Gangetic plain
(4) The Siwaliks

16. Jog Waterfall, is located in the State of
(1) Uttar Pradesh
(2) Maharashtra
(8) Karnataka
(4) West Bengal

17. Which among the following districts
has the highest percentage of forest
area in the State ?

(1) Chittoor

(2) Visakhapatnam
(3) Kadapa

(4) Ananthapur

18. Consider the following statements
regarding the Telugu Ganga Project :
A. The Project aims to provide

water for irrigation to Kurnool,
Kadapa, Nellore and

Chittoor.

The Project aims to provide
drinking water to the city of
Chennai in Tamil Nadu.,

Select the correct answer using the
codes below.

(1) A only

(2) Bonly

(3) Both A and B

8

(4) Neither A nor B
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19. PM-AASHA Scheme is related to

(1) Ensuring remunerative prices to
farmers for their produce

(2) Creating hope for those who
require urgent critical medica]
care

(3) Maximising industrial production
to generate jobs

(4) Overhauling the education
system

20. Given below are a few Rights which
are considered as basic human rights,
Of the below, which is considered to

be the most essential ingredient of
democracy ?

(1) Right to form Associations
(2) Right to Assemble

(3) Right to Freedom of Speech and
Expression

(4) Right to Freedom of Movement

21. The power to increase the number of

judges in the Supreme Court of India
1s vested in

(1) The President of India
(2) The Parliament
(8) The Chief Justice of India

(4) The Law Commission of India
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22,

23.

24.

25.

Aln(F

Consider the following statements ;

A. The President of India representg
the nation but does not rule the
nation.

B. The Indian Constitution hag
adopted the Parliamentary
System of Governance where
the executive is independent
of and not accountable to the
Legislature.

Of the above, the correct statements

are

(1) Aonly

(2) A and B only

(3) Bonly

(4) Neither A nor B

Andhra Pradesh has appointed Deputy
Chief Ministers. The position of
Deputy Chief Minister 1s mentioned
in which Articles of the Constitution ?
(1) Article 164

(2) Article 74

(8) Article 52

(4) None of the above

The concept of Special Category Status
was first introduced in 1969. Since
then, few States have been granted
Special Category Status till 2001. The
final authority to grant the Special
Category Status was

(1) Union Cabinet

(2) Finance Commission

(3) National Development Council
(4) Planning Commission

56 % of 700 + ? % of 650 = 613.
(1) 34
(2) 45
(3) 36
(4) 24

22, s 3“533,5@"33 20

23.

24.

25.
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27.

29,

Find the next number in the following
number series.

12, 17, 27, 47, 87, __
(1) 167
(2) 325
(3) 148
(4) 238

The sum of five consecutive odd
numbers is 275. What is the value of
twice that of third largest odd number ?

(1) 102
@) 57
(3) 110
4) 114

What will be the compound interest
accrued on a sum of ¥16,000/- at a rate
of 15% per annum in 2 years ?

(1) ¥ 3,120/-
2) T 5,630/-
(3) ¥ 6,370/-
(4) % 5,160/-

At the rate of ¥ 3/- per m?, cost of
painting a rectangular floor is
X 7,056/-. If the breadth of the floor

1s 75% of its length, then what is the
length of the floor ?

(1) 56 m
(2) 64 m
(3) 52 m
(4) 96 m

11
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30. A good administrator should be able to
separate the “sheep from the goatg”,

This statement means
(1) An administrator is occupying an

important office and should act

like an official while dealing with
people
(2) An administrator should have

basic common sense

(3) An administrator should be able
to distinguish good people from

bad people

(4) An administrator should defend

oneself strongly

31. By winning this championship he has

added ‘a feather in his cap’. The idiom

‘a feather in his cap’ means
(1) He is leading a carefree life

(2) He has suddenly become very
angry
(3) He has something one can be

proud of

(4) He has kept a few secrets to
himself
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32.

33.

13

Match the followmg idioms under List—1
with their meanings given under List—II.

List -1 List - II
A. From the 1. To be much
bottom of one’s effected by
heart - something
B. To take 2. To have
something some secret
to heart for use when
needed
C. To lose one’s 3. Very
head sincerely
D. As plain 4. Tobecome
as the nose confused
on one’s face
5. Easily or
plainly seen
(1) A-5,B-1,C-3,D-2
(2) A-3,B-1,C-4,D-5
B) A-5,B-2,C-4,D-3
4 A-1,B-2,C-3,D-5

Consider the following statements
According to the 16t State of Forest
Report 2019, which of the statements
are true about Andhra Pradesh ?

A. Andhra Pradesh has recorded an
increase in Forest cover compared
to 2017.

B. Andhra Pradesh has recorded a
decrease in Forest cover due to
natural calamities as compared
to 2017.

C. The total recorded forest area of
Andhra Pradesh is 22.86% of the
State’s geographical area.

D. Andhra Pradesh stands first
among the States in terms of the
Increase in Forest cover in 2019.

(1) Aand C

(2) A,Cand D

(3) B,Cand D

(4) Band C
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32. Match the following idioms under List —I

with their meanings given under List —1II.

List-1I List - II
A. From the 1. To be much
bottom of one’s effected by
heart something
B. To take 2. To have
something some secret
to heart for use when
needed
C. To lose one’s 3. Very
head sincerely
D. As plain 4. To become
as the nose confused
on one’s face '
5. Easilyor

plainly seen
(1) A-5,B-1,C-3,D -2
2) A-3,B-1,C-4,D-5
A-5B-2,C-4,D-3
4 A-1,B-2,C-3,D-5
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34.

35.

36.

37.

According to the new Sand Mining

Policy, 2014 of Government of Andhra

Pradesh, which department of the

government will fix the base price for

sale of sand per tonne ?

(1) Civil Supplies Corporation

(2) AP Mineral Development
Corporation

(3) Mines and Geology Department

(4) Irrigation and CAD Department

The government frequently increases
taxes on cigarettes and alcohol. In
economic terms these taxes are called
as

(1) Digressive Taxes
(2) Sin Taxes

(3) Regressive Taxes
(4) Proportional Taxes

Leukemia is a disease of the
(1) Lungs

(2) Blood

(3) Skin

(4) Nerves

Consider the following statements
regarding Gaganyan, India’s first
manned mission to space :

A. Russia’s ROSCOSMOS is
training Indian astronauts for
the mission.

. A new center namely Human
Space Flight Centre (HSFC) has
created within Department of
Space to oversee the Gaganyan
programme.

Which of the above statements is/are

correct ?

(1) Aonly

(2) B only

(3) Both A and B

(4) Neither A nor B
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38. Of the below statements, which
statement would be appropriate in
defining the word epidemic ?

(1) When a disease spreads over
several countries

(2) When the incidence of a disease
rise above the expected level in a
particular community or
geographic area

(3) When the disease spreads through
a virus

(4) When we cannot know how a
person contacted the disease

39. Adi Shankaracharya was born in the
State of
(1) Karnataka
(2) Maharashtra
(3) Tamil Nadu
(4) Kerala

40. When and where did the
Theosophical Society establish its
headquarters in India ?

(1) 1882, Adyar
(2) 1885, Belur
(3) 1890, Avadi
(4) 1895, Vellore

41. Consider the following statements
regarding MUDRA Yojana :

A. The objective of this Scheme is to
provide loans to micro and small
enterprises.

B. Three types of loans are provided
under the names of Shlshu Kishor
and Tarun.

Select the correct statements using the
codes.

(1) Aonly

(2) B only

(3) Both A and B

(4) Neither A nor B
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492. Virtual classrooms were establisheq
in Rashtriya Uchchatar Shikslg
Abhiyan (RUSA) funded colleges in
Andhra Pradesh. The nodal agency
for administering RUSA is
(1) The University Grants
Commission

(2) The All India Council for Technical
Education

(3) The State Council for Technical
Education (AP)

(4) Ministry of Human Resource
Development

43. ‘Navaratnalu’is an integrated scheme

with themes covering

A. Agriculture

B. Education

C. Housing

D. Welfare

(1) Aand D

(2) Aand B

(38) B,Cand D

(4) A,B,Cand D

44. Consider the following statements :

A. Horticulture sub-sector is an
essential component for food and
nutritional security in the State
of Andhra Pradesh.

B. The livestock sector in the State
of Andhra Pradesh has emerged
as an alternative and dependable
source of income generation
even during the times of severe
drought.

Of the above, the correct statement
is/are

(1) Aonly

(2) Aand B

(3) Bonly

(4) Neither A nor B
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45.

46.

47.
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Which of the following are true
regarding ‘Digital Soil Mapping’
followed in the Government of Andhra
Pradesh ?

A. Digital Soil Maps are relatively

more accurate,

B. They require more time.

C. There will be less number of
errors.
Relatively more number of soil
samples are required as compared
to manual methods.
(1) Aand B
(2) Aand C
(3) A,Band C
(4) A,B,Cand D

D.

The demand for women’s reservation
in Legislatures was first voiced in a
landmark report commissioned by the
Government of India titled “Towards
Equality : Report of the Committee on
the Status of Women in India”, in the
year

(1) 1956

(2) 2012

(3) 1975

(4) 1967

Consider the following statements :

‘A. The National Rural Livelihoods
Mission was launched in 2008.

B. The National Rural Livelihoods
Mission has been renamed as
Deendayal Upadhyaya Gramin

Kaushalya Yojana.

Of the above, the correct statements
are

(1) A only

(2) Aand B

(3) Bonly

(4) Neither A nor B
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48. Consider the following statements :

A. The sex ratio in the State of

Andhra Pradesh was up from 983
in 2001 to 997 in 2011.
Sex ratio is favourable in
Vizianagaram and Srikakulam
districts.
The sex ratio is considered
favourable if there is an equa]
or higher number of females per
1000 males in the population,

Of the above, the correct statements

are
(1) Aonly

(2) Aand C

(3) A,Band C

(4) Band C

49. Consider the following statements :

A. The density of population (persons
per square kilometre) in Andhra
Pradesh was higher than the
density at an all India level in
2011.

Prakasham district and Y.S.R.
Kadapa district had the highest
population density.

Ofthe above, the incorrect statements
are

(1) A only

(2) Aand B
(3) Bonly

(4) None of the above

50. How do the ‘western disturbances’

affect the crops in North India ?

(1) They cause heavy damage to the
standing crops

(2) They bring in locusts which
destroy the crops

(3) They are beneficial to the crops by
causing winter rain .
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Thisisaline terminated by arrowheads,
indicating the direction and extent of
a dimension

(1) Dimension line
(2) Extension line
(3) Arrowhead line
(4) Centerline

51.

52. A square is placed in between the
reference planes in such a way that
one diagonal is inclinred to H.P. and
another diagonal inclined to V.T.
Projections are drawn. The top views in
1,2 and 3 stages are ,
and respectively.
(1) line, line, parallelogram
(2) line, parallelogram, line
(3) square, line, parallelogram
(4) square, rhombus, rhombus

53. Which type of line is part of a
dimension ?

(1) Break lines

(2) Phantom lines

(3) Extension lines

(4) Cutting plane lines

54. Steps are given to draw a normal and
a tangent to the ellipse at a point Q on
it. Arrange the steps.

1. Draw a line ST through Q and
perpendicular to NM.

ST is the required tangent.
Join @ with the foci F1 and F2.

Draw a line NM bisecting the
angle between the lines drawn
before which is normal.

1, 11, 111, iv

11.
111.
1v.

(1)
(2) 1ii, iv, 1, iil
(3) 1i, iv, i, 11

19

(4) 1iv, i, i1, 111
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55.

56.

57.

58.

59.

The front view of a rectangle, when itg
plane is parallel to HP and
perpendicular to VP, 1S

(1) Rectangle
(2) Square
(3) Line

(4) Point

A line of 1 meter is shown by 1 cm on a
scale. Its Representative Fraction (RF) is

1) 1

(2) 100

(3) 1/100
(4) 1/50

The front view of a cube, when it
resting on HP on one of its faces and
one other face is parallel to VP, is

(1) Square

(2) Rectangle

(38) Parallelogram
(4) Triangle

Identify the below symbol.

=

(1) Temple
(2) Mosque
(3) Church
(4) Grave

Most architectural drawings produced
for field use by building contractors
are printed on architectural “D” size
paper which measures

(1) 24" x 36"
(2) 18" x 24"
(3) 11"x 17"
(4) 34" x 29"
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55.

56.

57.

58.

59.
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60.

61.

62.

63.

64.

Which one is not the standard metric
chain length ?

(1) 5 metres

(2) 10 metres

(8) 20 metres

(4) 25 metres

What does the “Single-Stroke” lettering

mean ?

(1) Cursive writing

(2) Uniformity in letters as obtained
in one stroke of the pencil

(8) Writing in one stroke without
lifting the pencil

(4) Writing only with hard, small
diameter lead-pencil

N number of circles are formed with a |

common centre, what is that geometry
called ?

(1) Inscribed circle

(2) Sphere

(3) Circumscribed circle
(4) Concentric circle

The side view of an object is drawn in
(1) Vertical plane

(2) Horizontal plane

(3) Profile plane

(4) Any of the above

While measuring a chain line between
two stations A and B intervened by a
raised ground '

(1) Visiongets obstructed
(2) Chaining gets obstructed

(3) Both vision and chaining get
obstructed

(4) None of the above

60.

61.

62.

63.

64.
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65. Guidelines for dimensions at
international level on a drawing ig
controlled by
(1) Bureau of Indian Standards
(2) Corporate Drafting Standards

(3) ANSI
(4) 1SO

66. The line of collimation method of
reduction of —s, does not provide g
check on
(1) Intermediate sights
(2) Foresights
(8) Back sights
(4) Reduced levels

67. Benchmark is established by
(1) Hypsometry
(2) Barometric leveling
(3) Spirit leveling
(4) Trigonometrical levelling

68. Correct distance obtained by an
erroneous chain is : Erroneous chain
length
(1) Correct chain length x Observed
distance

(2) Correct chain length Erroneous
chain length x Observed distance
Correct chain length

(3) Observed distance x Erroneous
chain length of these

(4) m chain diverges through a
perpendicular dis — its correct
alignment, the error in length

69. Which line type is thick and black ?
(1) Visible lines
(2) Center lines
(3) Construction lines
(4) All of the above

22
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70. Whichof the following is the eccentricity
for an ellipse ?

1) 1
2) 32
(3) 2/3
(4) 5/2

The representative factor is 0.02. The
actual length is 50 cm. Find the length
of drawing.

(1) 10 cm
(2) 5cm
(3) 0.25 cm
(4) 10 mm

71.

The top and right-side views have
common dimensions of

(1) Height and width
(2) Width and depth
(3) Height
(4) Depth

72.

73. Identify the following symbol.

(1) Railway track
(2) Stone steps

(3) Road

(4) Ladder

74. The length of a chain is measured

from

(1) centre of one handle to centre of
other handle

(2) outside of one handle to outside of
other handle

(3) outside of one handle to inside of
other handle

(4) inside of one handle to inside of
other handle
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75. Inlev the instrument is bein

76.

71.

78.

79.

80.

" (3) Axis of the telescope

© 24

elling operation

(1) When e staff must not by

move ‘ .
(2) When the staff is being carrieq

forward, the instrument must
remain stationary

(3) Both (1) and (2)
(4) Neither (1) nor (2)

In a prismatic compass, the zero of the
graduated ring is located at

(1) North end

(2) South end

(3) East end

(4) West end

In an adjusted level, when the bubble
is central, the axis of the bubble tube
becomes parallel to

(1) Line of sight

(2) Line of collimation

(4) None of these

What is the slope of inclined letters
with the horizontal ?

(1) 75 degree

(2) 65 degree

(8) 45 degree

(4) 85 degree

The generating circle will be inside the
directing circle for

(1) Cycloid

(2) Inferior trochoid

(3) Inferior epitrochoid

(4) Hypocycloid

The top view of an object should
typically be drawn

(1) To the right of the front view
(2) Directly below the front view
(3) Anywhere on the same page

(4) On a separate piece of paper

VSROSA

75. 8500 es565508°

(1) 56560 STedSHyE, 2eoBd
BEDOBERES) )
(2) 222080 5000t BR3oEIDOBORINCE

$08G0 ?gdoﬁ“ &0
BD () so00%0 (2) Bt
(4) (1), (2) 585
@are3s BEROE", (reso5030eT Boh 3oy,
":\Da'a QS’bCﬁ &otod ?

1) =6 ok
@3“5 Jo&
(3) &4 Jo&

(4) 33 d0&

76.

=2}

T7. J8erex 3;000&35, 20 Sosor
SRR QG aTgRScin), 50 ANK
RSroBEorr SEoE0od.

S0
) oges O
(3) Q0D ooy, &0
(4) de3S° D& 8¢

78. 9 J5roBtod S0 QORS wETe T
0% 7
75 &
2) 65 &d
(8) 45 &d
(4) 85 &@

79. S HRE0ERH Ho
~ @odoh 58S e eotod.
(1) 5ok
(2) 2850 5 ok

3) TRGE0 AT E ok
3?;3“@%50005

80. 2.8 SX0%) Aoty P e FTero o
Ac® 9
(1) S0t JFEO HADHD
S0005> Dea Eods Deforr
(3) 302" g 3o
(4) B8 Ao

(B)


Balreddy
Oval

Balreddy
Oval

Balreddy
Oval

Balreddy
Oval

Balreddy
Oval

Balreddy
Oval


E§§

81. When lettering a CAD dy

clarity you should limit t]
of fonts to

(1) One

(2) Two

(3) Three

(4) Any numbeyr

82. While drawing a perpendicular to a
line from a point within the line but
nearer to the end of the line, al] the
arcs drawn in the process are of
(1) Different radii
(2) Different radii but one
(3) Same radii but one
(4) Same radii

83. Aline of 10 cm is drawn on a drawing
sheet. It represents an actual length

of 25 mm. What is the representative
factor ?

(1) 1:4
(2) 1:40
3) 4:1
(4) 40:1

84. In the third angle projection method,
the view seen from left is placed on

(1) Left of the Front View
(2) Right of the Front View
(3) Right of the Top View
(4) Below the Front View

85. This type of drawing is created to
calculate areas, locate property lines,
and locate building projects and
facilities
(1) Traverse
(2) Contour
(38) City map
(4) Plat

awing, for
1c numbey
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, the line is parallel to both
ontal Plane (HP) and Vertical
(VP), we can get its true length in

g6. Whe1
Horz
Plane
(1) Front view
(2) Top view
(3) Both (1) and (2)
(4) Side view

ti-view drawing it is common
ude three views, the

front, the top and the right side. If no
dimensions are required on the right
side view the drafter can

(1) Leave the view as 18

(2) Eliminate the view

(3) Use the left view instead

(4) None of the above

87. In mul ‘
practice to incl

88. If the length of a chain is found to be
short on testing, it can be adjusted by

(1) Straightening the links

(2) Removing one or more small
circular rings

(3) Closing the joints of the rings if
opened out

(4) All of the above

89. In the prismatic compass

(1) The magnetic needle moves with
the box :

(2) The line of the sight does not move
with the box

(8) Themagneticneedleand graduated
circle do not move with the box

(4) The graduated circle is fixed
to the box and the magnetic
needle always remains in the N-S

direction
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90. The mosquito coil we generally see in
househol'd purposes and heating coils
n electrl_cal heater etc. are generally
which spiral ?
(1) Logarithmic spiral
(2) Equiangular spiral
(3) Fibonaceci spiral
(4) Archemedian spiral

91. Dumpy level is most suitable when

(1) The instrument is to be shifted
frequently

(2) Fly levelling is being done over
long distance

(3) Many readings are to be taken
from a single setting of the
instrument

(4) All of the above

92. .This is a thin solid line directing
attention to a note or dimension and
starting with an arrowhead or dot

(1) Dimension line
(2) Extension line
(3) Leader

(4) Specification

93. The front view, side view and top view

of a regular square pyramid standing
on horizontal plane base on horizontal
plane.

(1) triangle, triangle and square
(2) square, triangle and triangle
(3) square, triangle and square

(4) triangle, square and triangle

94. Drawings created with commercial
software are typically saved as

(1) Rapid prototypes
(2) Electronic files
(3) Draft drawings
(4) Change orders

27

90.

91.

92.

t 98,
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the below is used to make 4

95. Which o ht horizontally in a leve] 9

line of sig
(1) Foot screws

(2) Levelling head
(3) Telescope

(4) Tangent sCrews

96. Given are the steps to dlf?lw a tangent
to given circle and parallel to given
line. Arrange the steps.

i. Draw a perpendicular to given line
and extend to cut the circle at two

points P and Q.

ii. At P or Q draw perpendicular
to normal then we get the
tangents.

iii. PQ is the normal for required
tangent. '

iv. Draw a circle with center O and
line AB as required.

(1) i, iv, 11, 1

(2) 1v,1, 111, 11

(3) i, 1, 1v, il

(4) 1, iv, 1, i1l

97. The graduations of which scale is
derived from the primary scale ?

(1) Comparative scale
(2) Vernier scale

(3) Plain scale

(4) Diagonal scale

98. This type of drawing shows two lines
representing the pipe diameter

(1) Single-line

(2) Double-line

(8) Standard piping
(4) Centerline piping
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99.

|

100.

101.

102.

103.

104.

29

How is a normal to a tangent drawn ?
(1) Angle bisector |

(2) Perpendicular bisector

(3) Rectangle

(4) Semicircle

Which of the following is used in
checking the instruments to measure
angles with great accuracy ?

(1) Circular Vernier scale
(2) Plain scale

(3) Diagonal scale

(4) Comparative scale

Chain surveying uses the principle of
(1) Traversing

(2) Chaining

(3) Ranging

(4) Triangulation

How many pairs of parallel lines are
there in a regular pentagon ?

(1) 0

2) 1

(3 2

4) 5

Identify the following symbol.

X

(1) Temple
(2) Church
(3) Police station
(4) Statue

In chain surveying field work is

limited to

(1) Linear measurements only

(2) Angular measurements only

(3) Both linear and angular
measurements

(4) None of the above

99.

100

101.

102.

103.

104.
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05. The following line is used for dimension
100.

line |
(1) Continuous thick
2 Continuous thin
(3) Chain thin line

(4) Short zigzag thin

106. Intersection method of detailed
plotting is most suitable for

(1) Forests

(2) Urban areas
(3) Hilly areas
(4) Plains

The following is not included in title
block of drawing sheet.

(1) Sheet No.

(2) Scale

(3) Method of Projection
(4) Size of sheet

107.

To draw an arc of given radius touching
two straight lines at right angles with
each other, we first draw with
centre at the intersection point of the
two lines on both the lines.
(1) Anarc
(2) A circle
(3) A square
(4) A triangle

109. This type of structural steel drawing

shows all dimensions necessary for
fabrication

(1) Shop drawings
(2)' Design drawings
(3). Weldment drawings

(4) Application drawings

105.

106.

107,

108.

109.
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110. \IZBZ: l?rrsdu:idt ﬁfter every ghain length | 11¢. Tk p 50D B Feod FED DDG
e ground ? &sarAcsecao 7
(1) Pegs (1) R
. b))
(2) Ranging rods (2) Boetoh oo
(3) Arrows
Offset rod g
(4) set rods @) eSuS o
111. In lett'eril}g. ‘A’ the height of capital [ 111, A’ 508" i 050 A, I A T
letter is divided in how many parts ? defRodnéed ? '
2) 14 14
(3) 16 (3) 16
(4) 8 4) 8
112. The generating point is outside the | 112, 258:30k Sromoes O exsdedoR ¥8),S Jewde
generating circle for o ?
(1) Cycloid (1) pzoné
(2) Superior Trochoid 2ohBax5 g5 soné
(3) Inferior Trochoid (3) Th5%o S's"onE
(4) Epicycloid (4) dpSank
113. Which is not a principal view ? 113. 28 B8 g 50 ?
(1) Front (1) 3o
(2) Bottom (2) 853
(3) Auxiliary @ whobd
(4) Left side 1) 55539
114. In working drawings, these show [114. 38,0/ (@omofys’, Foses, K3d50E’
all necessary information not given Erdd (@ owol P AT IB00IA SSEAN
directly on the drawing with its SSrTod) Arded 38 92
O Dooumentstpe () ool i
> (2) Fgeod sge
(2) Portable documents o By
(3) Formatting forms (3) &rJreis &) -:,Gofdo
(4) Title and record strips 395 S8 057§ R
115. What is the size of a field book ? 115. g 28 5057830 Jod 2
(1) 20 cm X 20 cm 20 20.20 x 20 0.2
(2) 25 cm x 20 cm (2) 25 20.25 % 20 0.5
(3) 20 cm x 25 cm (3) 20 202 x 25 2.5,
(4) 25 cm X 25 cm (4) 25 20.20 x 25 2o.5
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116. The primary unit of measurement fop
~ engincering drawings and design in

the mechanical industries is the
(1) Millimeter
(2) Centimeter
(3) Meter
(4) Kilometer

117. For drawing a perpendicular through

a point outside a given line, which
of the following method is used aftey
drawing an arc from that point to the
line intersecting at two points ?

(1) Angle bisector

(2) Subtending an angle

(3) Perpendicular bisector
(4) Drawing a quadrilateral

Which of the following is not a valid
representative factor ?

(1) 1:2
(2) 1:3
(3) 2:5
(4) 0:4

118.

When a line is inclined to VP and
parallel to HP, the front view will be
. toxy. .

(1) parallel

(2) perpendicular

(3) inclined at angle f
(4) none of these

120. The point which is used for
plotting is

(1) Setting the plotting device
(2) Select the printer

(3) Select the paper

(4) Set the page orientation
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121.

122.

123.

124.

125.

126,

a3

Which grade of pencil is used for
drawing arrowheads ?

1) 2H
2) 2B
(3) TH
(4) H

While drawing a parallel line to the
given line through a given distance,
what all we need to draw ?

(1) Quadrilaterals
(2) Arcs and tangent
(3) Tangents

(4) Circles

Which of the following scales is used
when there are three units that need
to be measured ?

(1) Plain scale

(2) Comparative scale

(8) Diagonal scale

(4) Vernier scale

A sphere can be described in how many
views ?

(1) 4

(2) 3

(3) 2

41

____ arelinesdrawnonamap
to locate, in the plan view, points of
equal ground elevation.

(1) Contours
(2) Elevations
(3) Profiles
(4) Hatchures

An accurate record of changes made to
released drawings is tracked via this
(1) A revision block
(2) The basic title form
(8) Working drawings
(4) Portable documents

121.

122.

123.

124.

125.

126.
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132. The biggest of the survey line is

called

(1) First line

(2) Base line

(3) Tie line

(4) Main survey line

133. Inaligned system of dimensioning, the

134.

dimensions may be read from
(1) Bottom or right:hand edges
(2) Bottom or left-hand edges
(3) Only from bottom

(4) Only from left side

Given are the steps to construct
regular polygon of any number of
sides. Arrange the steps.

i. Draw the perpendicular bisector
of AB to cut the line AP in 4 and
the arc AP 1n 6. :

ii. The midpoint of 4 and 6 gives 5
and extension of that line along
the equidistant points 7, 8, etc.
gives the centers for different
polygons with that number of
sides and the radius is AN
(N is from 4, 5, 6, 7, so on to N).
Join A and P. With center B and
radius AB, draw the quadrant AP.
Draw a line AB of given length. At
B, draw a line BP perpendicular
and equal to AB.

iii.

iv.

©(2) iif, i1, v, 1

135.

() iv,iii, 1,11
(4) ii, iii, iv, 1

The title block used on working
drawings should include the

(1) Sheet number

(2) Line type

(3) Layer set

(4) All of the above

132.

133.

134.

136.
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136. Which of the following scales is used to | 136, ©d NIE P02 Defesn) pOyor
accurately measure minute divisions ? Posa0d éﬁ, 808 B5rerod e

(1) Plain scale ST RosetioBood ?
(2) Diagonal scale (1) o S

45
(3) Scale of chords @ DEY 0

(3) &Ko S

(4) Comparative scale (1) Srovig 55 ) 5

' 137. What is additional 3" view on 137
orthographic projection in general for
simple objects ?

. e $99)0H FErdenom 256;@13,35
SRS 65D B 5 Dges De3 9

(1) Front view . (1) S2008 e
(2) Top view (2) el ge>
(3) Side view @ - E s

(4) View at 45 degrees perpendicular

| (4) $Bes H3roBoS oowor 45 &fio 3¢5
l to horizontal plane
|

B0t

138. Once a drawing is determined to be | 138
complete, the title block is used to
! document the change from

. [@ox0oh Qrdo:o:éaa DpBotads Sos,
SPER0 GrEogRceY Bobmdd H 935 er§

(8) Igons (Gronofi®H ened)

(4) A working drawing to a draft (4) @58 38,0k ool

| (1) A draft to a finished drawing é&@fﬂoﬁmmmoa qﬁ -
\ (2) A finished to a working drawing @ Yoo EPO00N (&
| (3) An assembly to a finished (2) 580 (Tl I578

“ drawing

\

|

139. Thebook in which chain measurements | 139, 2S5 Soteo S B YRS 3T LT

| are entered is called _ ’ 5

| (1) Field book (@t

| (2) Record book iy (2) s ek

| (3) Study book (8) ges ek
(4) Chain book - (4) DS ek

! 140. For true difference in elevations| 140
| between two points ‘A’ and ‘B, the
level must be set up

. ‘A’ $58ax0 B’ @ ok Jrosoody Bo6s
896" DR ByTo0 §0 dor TDED | ac:)é.n

DTS 7
(1) At any point between A and B @;) A 308050 B o 5655 3 8idoabos e
(2) At the exact midpoint of A and B g*dmam B 031351; PNBS ?33455?60
(3) Near the point A

3) Jomots A &S
(4) SrooeS B CSKG

(4) Near the point B
| (B)
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141. The type of line that projects from
an object for the express purpose of
locating a dimension is a line,

(1) Visible
(2) Hidden
(3) Extension
(4) Dimension

142. When th‘e line is parallel to VP and
perpendicular to HP, we can get its
true length in

(1) Front view

(2) Side view

(3) Both (1) and (2)
(4) Top view

In this type of drawing, vertical pipes
may be revolved into the horizontal
plane

(1) Standard view

(2) Elevation view

(8) Transverse piping

(4) Developed piping

143.

How many number of arrows are
required for chain surveying ?

(1) 10

(2) 5

3) 15

(4) 20

144.

For accurate levelling
is attached inside telescope in an
automatic level.

(1) Alinometer

(2) Compensator

(3) Cross hairs

(4) Double lens

145,

VSROSA

141, ¥ EGET’D‘). z‘(:_@pé DE‘JGJ«'E:) Scdreso 850 2.
S99 Boocs &85O0 B &80 DAoed 7
(1) €20
(2) oriserts
@ EA0D
(4) @S
142. 85 VP & ssroddor 5080w HP § eoworr
;KJQ:DJGJ 83250 TR Qe 0 £ eta)
T3 BAS® oSy ?
(1) Goes g
(2) &3 ‘
@) (1) ss000 (2) Bodir
(4) &b 35

143, #9 8808 (GonoRS’, Deosh) Pded gdes
BSoBeod’d AEKTRoM.
(1) ol 35
(2) JOVHS I
(3) D% pHoR

B85 pof

144. DS $8500hR §%0 Iy D6'en eSS0 ?
@) 10
@ 5
(3) 15
(4) 20

145, 2B T3DAE0 QOS5 %0 e3sB0eds
Frood’ eBRdA0eLBIOR.
(1) 0dF Db
SPoRS b
3) &R wrans,
(4) ¢ers 5150

(B)
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f 38 VSROSA
146. When the axis of solid islperllziel?dicular 146, 350 &t V.P. & comor diyiytis
‘PV'P'ﬂée——‘:,‘f;,sﬁsgn Dfﬁgt‘z ) e Baocsts flosrd BoBiatsy e
?1.1’:&&;: yecke o) H90d o RoKHuBIed.
(1) front, top @&’m&_odo, 2 orifo
~ (2) top, side (2) erb, pb
(3) side, front | (3) ?.*3_5: 435085
(4) top, front (d) er5, ots

147. Todraw a tangent to an arc of unknown nt 1 6recBosS
Iadius and centre through any point | 147 22000 TG wdaty SoE 5°

on the arc we use AoXE"R8 z?gf? é;%z Zrona0td To” S0
bisect SE— N IC
(1) !s\ngl‘e irlcsl(:; ors (1) coond G
(2) Semic (9) 9558,
() Arc (3) By
(4) Perpendicular bisector ooa) B0
148. Which of the following scales represent | 148, 208 T¢3&* b 5 a3 BRR0s3S S5 9N
two different units having the same iy Dot Sxch A KO0 ?
representative fraction ? ‘ D Seds 5 o -
(1) Plain scale (1) o o
(2) Diagonal scale : (2) AERS
(3) Comparative scale @ BoOTEY B
(4) Vernier scale (4) 26,005 0,6
149. When the axis of solid is parallel to | 149, 23 o H.P. ©000 V.P. & $5rosto
"H.P.and V.P. then view should ) e = o)
be drawn first and and ____ T SR de e Ard

view then projected from it. , ooty WBah oD
. 2008 Lo dohehEed.
(1) front, top, side

_ (1) Swoch, ed, &
(2) top, side, front (2) &35, 26, 06
(3) side, front_, top

6, SwotD, 7D
(4) top, front, side 4) eD, S0k, b

150. The architectural drafter usually | 150. es8)855 @30 Sorteon swoth
begins a set of working drawings by &SRBt Ty 0),0R Eoacho S8

creating the plan first. S oDR08.
(1) Foundation (1) ASS
(2) Floor OB
(3) Elevations 3) WX
(4) Building section (4) 25%0 derito

(B)
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